v

Ruilt for nerformance

—_

©®N

10.

1.

12.

rort Kickstand Installation Instructions 08-04509-2!
Parts List: Kickstand with Bracket; M8X20 bolt; M8x70 bolt; clamp piece; spacer
**Removable Thread Locking Compound is recommended on all bolt threads**

Verify bike model & kickstand application before installation!
Place bike securely on a center stand; Remove frame protection plastic frame cover on the left side of
the bike.

Remove M8x35 bolt from the lower chain guide
2016-2022 Models: Using supplied M8x70 bolt, insert thru the bottom bolt hole on the kickstand bracket;
place the included spacer over the M8x70 bolt on the back side of the kickstand bracket.

2023 and up Models: Use the stock bolt to install the bracket to chain guide under the bike. Use the
supplied M8x25 bolt for the bottom hole of the kickstand in to the bracket.

From Step 3, install the kickstand thru the lower chain guide. Do Not Tighten the Bolt.

Install M8x20 bolt to the top of the kickstand bracket with the included clamp piece to the bike; Tighten
fully

Tighten bolt in Step 4 on the lower chain guide.

Cut the enclosed template by following the Template Cut Line

Using the template, tape it to the plastic piece from Step 1 by lining up the hole from the template to the
plastic frame cover.

Mark and trim the plastic frame cover using the Cut Line on the template. Depending on user
preference, some adjustments on trimming maybe necessary for the plastic frame cover to fit around the
kickstand.

Reinstall the plastic frame cover; It will flex slightly with PSR kickstand installed.

Rotate kickstand through its entire travel and check for clearance prior to use.

Usage & Maintenance of PSR Dual Sport Kickstand:

1.
2.
3.
4.

Check all hardwares for tightness before each ride.

Do Not Start the bike with kickstand down.

Do Not Kickstart the bike with kickstand down.

Clean and lubricate the kickstand pivot area after each ride.



2016-2022 models template
\

Template Cut Line

Cut Linei

D

2023-Up models template
Template Cut line

/

Cutline

—— — —
]

Scale check



